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YA &b fIT 37g4er / Instructions to the Candidates

1. g4 U7 odieT gReaeT o &0 3 gl " ust W @l gt e spuime fer
SIEa /The question paper is in the form of test booklet. All candidates will be
assessed on identical questions.

2. 5 foma &g @l nufdiat o e f ufd & WY e ¥ UF NTAIR I
GRAdT SUCEY HUS S| HedaTs B Hf iy & NTAIR Me @ reer Hi
aur et @ |@iT & / A separate OMR answer sheet with carbon impression

is provided to all candidates for answering. The carbon impression of the OMR
sheet will be detached and handed over to candidate by the invigilator.
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. GRS UM UH eg a1 / HyUAr "@Edr & @y G amwen, sl Ay s@
Rea (3), (@), (1), qUT (F) @] BT 394 @ TH & W HE g9nm / Each

objective question is provided with a text and/or figures wherever applicable
with multiple answer choices (a), (b), (c) and (d). Only one of them is correct.

. AR e W R 71w Iegee & «aa & sl 3ua 3l B Rgad ae qur
forger &g Faer i YA HA G Gige PHoAH B A UAET BT / Read the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen
for writing on OMR sheet and marking your answers.

ST aRges W_a;—wf—a;—mwm —

e 30 & T IS FPRIcHAS 3ieheT el & / All objective type questions carry

equal marks of ONE for a correct answer. There is no negative marking for
Wrong answers.

. T TR gg fafdy 3o 89 W 39 aed SO & A S|
Multiple answers for a question will be regarded as a wrong answer.

. 3TATF B W 6 dY &g gRasr F e v R ¥ &1 300w Fhd
AT & P o Me suaey A &g SMuIlt / Space available in the booklet

could be used for rough work, if required. No separate sheet will be provided.

. S o 3T & T Sga & HoA o9 W@ @, 36 W IS §AI A gdie 7 B 3T
3T UN & P Thd & JAT a1 # s U &I & / Do not waste time on

questions, which are too difficult for you. You can go on to other questions and
come back to the difficult ones later.

.ulieT % uyA G F R it o oliem da siza & gaAfa a9 §

Candidates are not permitted to leave the examination hall during the first hour

of the examination.

. e & ' A W (1) Wi Ruwnw g Af@a e & gd Ree aum (2)
AR 3R gReda ediarn o Al & qur e off grora & st s a &
o ST / At the end of the test (1) Hall Ticket(s) with photograph pasted on it

and (2) OMR Answer Sheet shall be returned to the invigilator and shall not be
carried by the candidate under any circumstances.
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1. TaReR 3 URE A Ul Bee Wela @1 scurg RBrear §?
When water is added to plaster of paris , the resultant product is
A. T A% URA Plaster of paris
B. @IEcsh T Slaked lime
C. ellge Quick lime
D. TSTH& Gypsum
2. o fafesier r amfaE @Xaar a1 §2 Chemical composition of blue vitriol
A. CaSO,
B. ZnCO;
€—MgSO;
D. CuSO0,
3. e & ¥ Plaar 31T evp 7 B2
Which of the following is not used as a fire extinguisher
A. 3JTFEISET Oxygen
B. CO,
C. H,O
D. NaHCO;
4. e & @ sl i @38 I €2 Which of the following is a green house gas
A. TS Oxygen
B. & STU3iTATSS Carbondioxide
C. ®If$ad 3HfFarss Sodium oxide
D. EEaIe FeiRTss Hydrogen chloride
5. U [Aorde el foreard @ ofe #F agel a1 ¥ Te Biear Rerded & Fahar ¥
A given solution-turned blue litmus to red. The solution could be it
A. TREIFAIRG 31 Hydrochloric acid
B. HIfedd g=i3ieass Sodium hydroxide
C. Ofe¥d wEfae Sodium carbonate
D. P& sTa3iaass I Carbon dioxide gas
6. TE &R & HASIN 3HFel & WY TFCAT H 3T TAD &
Suitable indicator for titrating weakacid with a strong base
A. THYUTEE 38 Fad Methyl red indicator
B. ¢ & EBT indicator
C. eATHIei F@H Phenolphthalein indicator
D. SiEfthaArsel 3@ Fae Diphenyl amine indicator
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7. KLMNS & aiefaga & gelagifaa fAe=ara aem
Electronic configuration of potassium in KLMN shells is

A. 2,882

B. 288,11

C. 2,8,7,1

D. 2,8,6,2

8. 31 aur &1 pH &9 pH of acid Rain is

A <b

B. 7-8

€—8-9

D. >9

9. 3mact AR F fhel 74U & W § A B ST U FelTaAafeiA W wag g
B
When we move downalong the group in the periodic table the electronegativity from
top to bottom

A. g&dl © Increases

B. ©edr © Decreases

C. AT Tdr & Remains same

D. T Zero

10. TR arel Uil # ffear Asee e W Far aidr &7
When Silver nitrate is added to water having chlorides which of the following is observed

A. dcdarec Effervescence

B. ddSe # SIFHT Precipitate

C. Eﬁ(‘é dcard a% No change

D. dretiehduT Evaporation

11. 9y urelt T dca @ 3MSARIT § Heavy water has isotope of the element

A. @IS Carbon

B. &AmSgiald Nitrogen

C. @33l Hydrogen

D. 3fTaHeia Oxygen

12. IR 3 wiaar 317 &ar §2 Acid present in vinegar is

A. @refed 31 Citric acid

B. eRf¢& Tartaric acid
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C.
D.

13.

JferaTferes 31Fel Oxalic acid
wdifces 3Fo Acetic acid

fre dea &1 T TAT 11 gUur 3nuifae gaAe 23 &

An element having atomic number 11 and atomic mass 23 is

A. UIERRIA Potassium

B. EEalsla Hydrogen

C. 3iferersd Oxygen

D. WIf3I# Sodium

14 verar ST o ar & Aqua regiais o
A. 3:1% 3eurd # HNO3  + HCIHNO; + HCl in the ratio of 3:1

B. 1:3 & 37Ul # HNO3 + HCIHNO; + HCl in the ratio of 1:3

C. 3:1 & 37gured & H2S04 + HCIH,S0, + HCl in the ratio of 3:1

D. 1:3 & 37U # H2504 + HCIH,S0, + HCl in the ratio of 1:3

15. T 39 QU 9T A W 744mm UR F &T W 95¢C S8 BNl ¥ AU FERR

oo ®p

16.

A.

B, Urela fir =47 ©W Number of neutrons

G
D.

1/

A.

B
C.
D

W@ W 760mm E1d U SHBT A Thaar &9m?

A given mass of a gas occupies 95 cc under a pressure of 744 mm mercury. What volume
will it occupy at 760mm pressure if the temperature constant

97 cc

93 cc

100 cc

80 cc

HIE TET FE W 3R Bl & Atomic number is defined as
Solerglel I &I W Number of electrons

WIeid Td Solaeid & I Sum of protons and electrons
UICiT Ud Felgeld & 3HaX W Difference of protons and electrons

HAMATATH &1 3HTFATSS FT BT & The oxide of Aluminium is
IFT Acidic

&I Basic

3HTYHT Amphoteric

. dc¥T Neutral

18. 33 # fhdel TeH-doTd dles @l & Number of covalent bonds present in ethane
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19, gl UH IR P a1 Afden ¢ e gbricHs a0 &
Butanone is a four carbon compound with the functional group

FIETATRAST 37 Carboxylic acid
31ehieel Alcohol
fpeld Ketone

Jifeegss Aldehyde

g p @ F

20. S 375 FT 3EEI9T & An example of organic acid
EESIFalRa 31Fe Hydrochloric acid

A

B. HePNe 3HFe Sulfuric Acid

C. TfETH F=aRieEs Sodium hydroxide
D

. uflfed 31FT Acetic acid

21. 1000 el 0.5 FAreX NaOH faoaa g & fow NaOH &t fergat &mar & maeganar

grfr?
To prepare 1000 ml of 0.5 Molar NaOH Solution, the wt of NaOH to be taken is
A. 40g
B. 50¢g
C. 20g
D. 80¢g

22. ST & Teh A BT gadAT (IH FH) fraar &2

What is the mass of one mole of oxygen in gms

8

16
32
64

onwer

23, forell U 1T FR @ GIAT 100TH FAT AAAA Th ded &, Al 3Dl Helcd #1d
fpfare

If mass of a sample is 100 g occupying a volume of one litre calculate the density of the
sample

0.01 g/lt

0.01 g/cc

0.10 g/cc

10 g/lt

on®x
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24,

A.

o0 w

100°TeHE & $REX § 100 degrees Celsius is equal to
273K
212°F
112 F
273 F

. Ueh HATSshid fhelelT BT & One micron is

0.001mm
1.00 mm
0.01 mm
0.10.mm

o n = >

o N ® >

. 1o femass & #lge faeme & A & & w2 deerr 7

The number of moles of solute present in 1Kg of a solvent is called its

AraferérMolality
ATATTET Normality
WA Formality
ArTRET Molarity

AT F e ugfa & uaer uel fr TAE FeRar @ g F v a8 fRar siar?

(he of the method is not used for removing permanent hardness of water
3made Distillation

e AT AT Adding caustic soda

34Tl Boiling

AT FEee e Adding Sodium carbonate

0 o Caa B 5 2 05 11 R 1 o G 1 (B [ IR A 2 A 2 s L L MRS 3 MR G e 5 Y

o N @ »

© >

Which one of the following radioactive isotope with half life given below is most
dangerous to handle?

18 fea/days

3 Eﬂff/years

25 a¥/years

0.01 & /minute

. WIe @ 3R Hvaerse # T @dr §7 Magnetite the ore of Iron consists of

FE‘CO3
F9203
MgCO;
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FEQOH.g,

. C4HeTX # 31Rpaed fhcer 3MSHR 8la &7

C4Hg an alkene can have how many maximum number of isomers
2

4
5
8

 FT & O laar Fed Tad 3R §? Which is the hardest form of carbon

gIFHS Diamond

o 0 =P

32.

o n P P

o 0w »F

AFEC Graphite
TRIA Charcoal
Pk Coke

g wH P Faw e HEar SlFEr gfar £2 Which is hottest part of a gas flame
USd &1 Luminous zone

relr 819 Blue zone

T &F Dark zone

S &1 Non luminous zone

. BRfewar & A gt IR @ gard ®1 I8 Sladr g2

Stratosphere has a gas which shields us against radiation damage.which is the gas

FEaaiel Hydrogen
HISiT Ozone
AT Oxygen
H'IT Methane

A
B.

. UreitefieT &7 ANIAT P §? What is the monomer of polythene

#Harer Methanol
A Hedied Ethyl Alcohol
ZATSelld Ethylene
aEe @eiREs Vinyl chloride

T & @ siaar aig ged wrien §?

Which is the most malleable metal among the following

@ Gold
=er Silver
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C
D.

CATTedH Platinum
Fﬁ‘ﬁ Iron

36. [ A & dlaar dca wadifls gaaeuifafea 72

The element which is most electropositive among the following is

A. HTeR™HA Calcium

B. TITR™A Potassium

C. &RTH Caesium

D. #HIfZTH Sodium

37. TReT dca T Iisles &THdT a1 PEdldl 2 The combining capacity of an element is

A. 31ges HEIT Atomic number

B. dolH Zelagid Valence electrons

C. 3nf0aemar Atomicity

D. dedr Valency

38. ¥G 3FA U &R &% odUT 8l ¥ Salts of strong acid and Strong base are

A. &Y Basic

B. d<¥YI Neutral

C. &g Acidic

D. I & & @IS =% None of the above

39. UYL YA P FT Fed &7 Pure ethanol (100%) is called as

A. TR Iedhlgd Power alcohol

B. Ra@S 3redlee Denatured Alcohol

C. uienfaa #ifte Rectified Spirit

D. UI#H 3Heehlgsl Absolute alcohol

40. W3 a1 & What is freon

A. N0

B. NO;

C. CFC

.D. CCly

4. fora & @ form 3 w0 ais g &2 Which of the following contains triple bond?

A. CsHs4

B. CzHg

C. CoH4

D. CaH2

42. HYfaed Al TRol #, seaciiae A=y 2,8,7 arel dcd wE aere
In the modern periodic table where would you locate an element with electronic configuration 2,8,7

A. Group 16 period 2

B. Group 17 period 3
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Group 17 period 2

D. Group 16 period 3
43, TR o arell YU W HI@ & aa P FIH SUYeh AR Diedr &2
Which type of eye protection is most suitable to prevent exposure to irritating mists?
A. TSI Eede Welding Helmets
B. fadw &y =@ed Special purpose goggles
C. afegar ez Welding shield
D. ATwd CaH&l BothAandC
44 FArar &7 &2 What is Permeability?
A. Tg TARN & / Itis Permanent
B. Hadl ¥d{ [Hee & / [he concentration levels are difrerent
C. el 3IR-UR & ¥l & / Things can pass through
D. s 3edar & / Things get struck
45, Ta¥ROT &7 &7 Diffusion is defined as?
A. o9 3] 3Td Higa ¥ fAe @igar & H ST B
When molecules move from high concentration to a low concentration
B. @IS IfAfafer 81 / No movement
@ U] Ferdd @ & / When molecules move
D. I 30 @l AR Ferael i & / Molecules move everywhere
46. U GIATEIOT & TY TGS THISG AT SeraeRaraias HIARAT & HROT U @l &0T 41
HEA &7
What is the process of deterioration of a metal due to unwanted chemical or electrochemical
interaction of with its environment
A. Tagdasees Electrolysis
B. Tgdsmdiea Electrodialysis
C. H&RUT Corossion
b, feTger Deposition e
47. & wg Gied A # dl Al B TAERIST # 3uAT & A Slaar susor e uher fhar
ST £?
What is the apparatus used in the lab to dispense small and precise amounts of liquid samples
A. =gIT Burette
B. TUUT Pipette
C. T Beaker
D. #ge ezt Measuring cylinder
48. JIA F oA & forw fre susor &1 gt fear s &2
Apparatus used for filtering the sample is
A. SIfewe Feren Conical Flask
B. o Funnel
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C. #@1aT Beaker
D. =ZgIc Burette

N
w

. Ureer feraent f3sr 9 &7 Brass is an alloy of

Cuand Zn
Cu and Sn
Pb and Sn
Pb and Zn

oo w»

50. fF & & Sl wgfa e & 5o § a9 & fow sugs ¥
Which of the following methods is suitable for preventing rusting of iron
7" ST Applying grease

oleh &1 Oxa 9T Applying coating of zine

4T 9T Applying paint
304w | Al of the above

o olw >

(6]
iy

. <lIf=IT Ur3eT &7 {F FAT &2 What is the formula of Bleaching powder

NaOH
CaO
MgO
CaOCl,

com»

. HIECH HIST HT TAFAFS I &7 2 Chemical formula of caustic soda is

KOH
Na2003
NaOH
NaCl

w
N

oow>

53. WHET: Teheehl HTHRRAT & TR dad ¥2 Esters are commonly formed by the reaction of
HIEIT Td 3HFT Ketone and Acid

3Fl UG FaUT Acid and salt

3oTeel Td ofdul Alcohol and salt

IHFT TG Jedied Acid and Alcohol

oo ® >

(9]
N

. |IfsTH viiee &g #41 §2 What is the formula for sodium acetate?

CH.COONa
CH3CONa
CH3;COONa
NaCOCHz

OowrE

55. foret Teneull T Heet aTHaT Fa1fle @it &2 The rays having most penetrating power?
A. 3ew fRTUT Alpha rays

B. dier fot Beta rays

C. 913 Aot Gamma Rays

D. UFg-faRol X-rays

56. M &1 THAOT F=T £2 What is the mixture of glass?
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A xurg fafase Non-metallic silicates

B. g Fferhe Metallic Silicates

C. 4rg UfeeMetallic acetates

D. 37urg UffizeNon-metallic acetates

57. &9 dq voumel & werer & @ @ @ dEd &2 In Colloid system light scattering is known as

A. srsferae Tifa Brownian Motion

B. T&sof wHa Tyndall Effect

C. Thad Coagulation

D. fIga@murTaTas Electrophoresis

58. JI1 30R@ & AT 7 foRgest uiier fRam Srar 2 Urea fertilizer is manufactured using

A. AT Td 0QAmmonia and CO;

B. 3&If@ar va Ascislel Ammonia and Nitogen

C. Herdi=sis ud ®IERRT Oxygen and Phosphorus

D. urtfdrs® vg Ascy 3iaBEs Potassium and Nitrous oxide

59. f@e & O Trg =uer arell 9 FEl F1ar §2 Which of the following is a laughing gas?

A. N0

B. NO:

C. S0,

D. HsS

60. 15US &F T ....... BT & / What is 1 Farday

A. 96,500C

B. 97,500C

C. 96,400C

D. 97,500C

61. forelt Uerdl gRT arg W UTel IaRT SYe @ B @ dedrr §7
The process by which substance absorbs water from air

A. U¥dce Delinquescence

B. g=urEnrdl Hygroscopy

C. dcdarec Efferevescence

D. ufadf@ Fluoroscence

62. argIsd I PiAw W agarad # oS S &2
Which is the most abundant gas in the atmosphere?

A. N2

B. Oz

C. COs

D. H:0

63, e frger f&s0T §2 Cementis a mixture of

A Sicwws & fAfokey va Jf#AacH Silicates and Aluminates of Ca
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#afa & @rEfed Carbonates of Mg
&feera & FEfAeH Carbonates of Ca
3 H ¥ ®S A& None of the above

64. Tonelt ifAfRaT o 310, GREY] AT A ERT SAwCl Y Ee T dwardr B2
Loss of electrons in a reaction by molecule, atom or ion is known as

A. REFE / Reduction

B. 3iferHIUT / Oxidation

C. ¢dfleor / Polarization

D. f@wwmaa / Neutralization

65. | F1 §? / What is soap?

A. BIESIFAING 31Fe & TS FauT Sodium salts of hydrochloric acid

B. @sfes 3Far & AIRIF FauT Sodium slats of nitric acid

C. uf#eld & Hifdad &auT Sodium salt of acetone

D. €l s[@el whrsiiediierh 3 & HBTA @0 Sodium salts of long chain carboxylic acids

66. faiFeT 3 ¥ dlad uiehay yATcenfees 2 Which of the following polymers are thermoplastic?

A. Tasnf= Neoprene

B. Umhfd® @R Natural Rubber

C. uiciieaRa Polystyrene

D. Wi Teflon

67. AT AT & AT JeR dEewer F fFE sSRE @ w=eT e ¥
Catalyst used in the Haber’s synthesis for the manufacture of Ammonia

A. Mo

B. Ni

C. Pt

D. As

68. 3TFS P WA U1 7997 arg & ama & ulhar & dear &2
What is the process of heating ore in the absence or limited supply of air

A. UTEET Roasting

B. e Calcination

C. wafed= Sublimation

D. dreus Evaporation

69. PVC fF¥eT Tidier &2 PVC is polymer of

A. T / Acetylene

B. THIEA Acetone

C. 3redlgel / Alcohol

D. 3fehed / Alkanes

70. 500 el ey # 4fRam NaOH & e &t amstear feael aefe
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Normality of solution containing 4mg of NaOH in 500 ml of solution
0.1N

0.2N

0.3N

0.01N

. 0.5N T&aT arer 100 el Rree & frdl 30T o= [eaa & asee it 9 W TEce A

50 frel &1 s@dhT aArererar fraer srefi?

When 100ml Solution of 0.5N strength titrated against an unknown normal solution , the titre value
is 50 ml. Find the normality?

2N

0.1N

0.5N

1N

74.

. g% Uerdl &Y pH 3 agana @1 ufddy er & / Substance which resists change in pH

gRT / Buffer
3RS / Catalyst
HFT / Acid

8 / Base

. AT T & 7/ Normality is

fererae & ufd ofey #Hie &1 d@=ar / No of moles of solute per litre of solution
1000 I faerma # oie v Bemas & A & gea

No of moles of solute dissolved in 1000gm of solvent

o= & ufar #fex 3f dAlge Fears & T\ Jeded & gea
No of gram equivalents of solute present per litre of solution
o & ufd ofiex 3 Remas & aegen & g

No of equivalents of solute present per litre of solution

pelY Trsor 3 Tt & FaYEE 3 U™ gl df RUfd A 30t g¥s S & AU e dede
&1 gaer [ear arar 87

What is the Technique used for separation when Boiling point of chemicals are close to each other
in the mixture

o0 D >

oo w >

76.

3TEa Distillation

foT&amae Calcination
TI#TST=r Fractionation
HE= Condensation

. yfeeess & fFgdy WANT ¥ Ugalar ST &2 Aldehydes can be detected by using

fivers Remgd Grignard Regards
e Rusie Nester's Reagent
giel Rusie Tollen's Reagent
e ATS1AT Aqua Regia

o] Ruaex # AwSe T @ WA F47 fRar Sar 2 Graphite rod is used in nuclear reactor
fAea nfd =gia & 379 7S =gl # ages & fow

TB5-A-12



To convert slow moving neutrons to fast moving neutrons

JTFERTOT URRAT ST & T To increase oxidation process

C. NeE&u= ufehar gg= & AT To increase reduction process
soa T =i B B TR w2l # aees & e
To convert fast moving neutrons to slow moving neutrons

77. areY T FT §2What is water gas

A, COgz+HaehT fA#UT Mixture of CO+H,

B. COp+H.@T fAsoMixture of COz+H,

C. NO+Hy@r TgoMixture of NO+H;

D. NOz+H=T fF#0TMixture of NO2+H,

78. 3Te] @& gebs X HATHISIE Tdefde THeld UX 39Dl 19T ... RG]
When iodine solution is added to slice of potato, colour becomes

A, ©Tel / Red

B. &relm / Blue

C. ®I% g el / No Change

D. &0 / Green

79. Arerea TEar fREd GIfQd §2 Octane number is related to

A. ogfRTEa 3ifsel Lubricating oil

B. & 3ifse Break Oil

C. el Gasoline

D. 3edledl Alcohol

80. wrfdrer wa fgciies A F ¥ dlaar daa 3f¥s ufafeanie g2
Between primary and secondary standards --------- is more reactive

A wrufde AAS Primary standard

B. f&d@® #E® Secondary standard

C. AT BZIEl a8 None of Aand B

D. Ad BgHiBoth Aand B
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